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TTZhIETHE I€ H, IS Tieehe ‘Ctrl + B’ =T ITFT
% fore fopem ST 21

(A) TR S I DIt

(B) TH I g ¥ Hifad

(C) HYUl TEATaIST hT =3 LA

(D) L F B 168 I HKivee | fored

(E) Sigaia 9

TH T YTawiEe § Hihd F15E I % I frefafed § @
-1 g7 yaf¥fa feram s &2

(A) TTEE W& g7 (B) STSTATH 3%

(C) wEe3w™ (D) ¥EE T g

(E) orgaid g

freafaRad & & SH-91 S22 Tieehie T8 27

(A) HTTP (B) DNS ﬁ
(C) NIC (D) Telnet

(E) 3Fgafa g

Gmail ZRT 3ARad fha" MB %1 0 1eae quid Bar 2,
o 918 9 39 Google Drive i & s1eet qaT 27 (ﬁ":fﬁﬁ

el 39T forhed )

(A) 10MB (B) 15MB
(C) 20MB (D) 25MB
(E) orgafd o

%, %% 3T % T HCF 1T 87

(A) % (B) 23—0
(©) 61_0 D) %
(E) rgafd o

F SATth U W2 § Y| F 1:2:3 % ST H 918 A, B 3T C
YIS 9T A, B 3R C % Teih U8 TUSHAT: X156, 165
HR T 322 1 4 = 371 Gt ATHAT 1 TF €1 Ad 8C
wfd =afh 3id =99 &

(A) T 165 (B) T214.35
(C) 221 (D) %242
(E) rgafd 9

TIM P AT Q o sftel AT il Frd HIfor) Ffe Toh o7 w9
P & Q % 40 ferefl/sier i e & AT el B W RIF Q P
e 60 Tt/ =61 Tid & S AT 2, 3T AW | Fed §
S T GHT ST R

(A) 150 fepeft (B) 100 Feret
(C) 180 fepdft (D) 120 ot
(E) Agafasg

T q %1 ¥ 1280 H sIe T 1 el Sfqret 2T, Seft areq b1
Z 1920 ¥ S=H W B ATt a9 AT 3 SR B 25% @

AT o FoTQ ] 1 forshar qot 1 BT <1fee?
(A) %2000 (B) 2200
(C) T 1850 (D) 1600
(E) orgaid g

In Microsoft Word, the keyboard shortcut ‘Ctrl + E’ is used
to .

(A) Copy selected text

(B) Align the text to the center

(C) Select the entire document

(D) Capitalize first word of the text

(E) Question not attempted

In MS PowerPoint which of the following views is displayed
during a conference slide show?

(A) Slide sorter view (B) Outline view

(C) Slide view (D) Slide show view

(E) Question not attempted

Which of the following is not an Internet Protocol?

(A) HTTP (B) DNS

(C) NIC (D) Telnet

(E) Question not attempted

What is the maximum size (in MB) of email attachment
supported by Gmail, after which it converts the attachment
into a google drive link? (Choose the most appropriate

option from below)

(A) 10MB (B) 15MB

(C) 20MB (D) 25MB

(E) Question not attempted

What is the HCF of %, %,% and % ?
1 3

@A) To B 750
1 3

© 2o D) T

(E) Question not attempted

A certain number of persons went to a restaurant. They
belonged to groups A, B and C in the ratio 1:2:3. The
average amount spent on each member of group A, B and C
is ¥ 156, ¥ 165 and T 322 respectively. Taking all the
persons together, the average amount spent per person is:
(A) T 165 (B) 21435

(C) T 221 (D) T 242

(E) Question not attempted

Find the distance between the station P and station Q. If a
train travels from station P to Q at a speed of 40 km/hr and
returns from station Q to P at a speed of 60 km/hr, to take
total time of 5 hours for the round trip.

(A) 150 km (B) 100 km

(C) 180 km (D) 120 km E
(E) Question not attempted

The percentage loss by selling an article for ¥ 1280 is equal
to the percentage profit earned by selling the same article
for ¥ 1920. What should be the selling price of the article to
make 25% profit?

(A) 2000

(C) T 1850

(E) Question not attempted

(B) ¥ 2200
(D) % 1600
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A YA o sff= AT H, T T hl A= 7l BT 55% 7
T, STIfeR 20% WA ST 91C Q) Ffe STt ¢ wai i Fel
HEAT 7500 off, A 8L AT AT et = el Shi T S )

(A) 2800 (B) 3000
(C) 2700 (D) 3100
(E) gafid 9=

P Q I T 5000 HIT R I F TR 14% 1M 3T & ATERO0
TS TSR0 | | ATS 4 99 921q P 1 %A T 4480 ST e,
AT R i R07 9 TS AR

(A) %1500 (B) %2100

(C) %3000 (D) % 4200

(E) orgaid u

2011 T SIHTVET % ITER, TSEIH % Heferfad et 3 @
Torer fofet T Tmeqear <€ gerg & off?

(A) AT (B) SR Eg
(© ¥ (D) I

(E) Agafaug

freaferiad & @ fop Tom o “YiSiee e 1 Tererd e 8,
TSR g eaeh o forem ST gm o fo7e 3 318 1980 1 H:
ESHRCAEDIRIDIDIV

(A) T (B) AR

(C) amr (D) I

(E) rgaid 9

Frefefaa 8 & F9-a1 Sa-ufem Woe S 1 T T9eT T8 27
(A) ST (B) SiUq

(C) 3R (D) IR

(E) g sg

frefafaa & @ form weT & 2009 ¥ feam e wanee
(TSI o Teul o U SHrafies 3Taar afed g8 off?

(A) =& (B) wigaTeT

(C) SIq (D) SEeTHT

(E) Fgafasg

TSR B qTaor a7 & He §, RAPCC (311 T |t &t )
a1 gt &9 T 27

(A) TSR TR W 3 FT3HE FHelay@

(B) TISTEIT TR WA 31 FATSHS Shlet

(C) TISTEATT T UTfeTH Bt FATgHE hlay

(D) TS THRH WA AT FATZHE o

(E) rgafd 9

T ST ST e shi T fow o o <61 off?

(A) 14573 (B) 1458%.

(C) 1459%. (D) 1460%.

(E) gaid 9

3T F TAAAT HUTH (1857 H) o S0 SAUSH g7 BidT 9T =@
ST STt TSTEAT & 98l A6 o -

(A) fasm féig uforr (B) IS o 9t

(C) T =g Fifean (D) =dil fig smeEs

(E) Fgafa9g

10

11

12

13

14

15

16

17

In an election between two candidates, one candidate got
55% of the valid votes, when 20% of the votes were found
invalid. If the total number of votes polled were 7500, then
find the number of valid votes that the other candidate got.
(A) 2800 (B) 3000

(C) 2700 (D) 3100

(E) Question not attempted

P lends ¥ 5000 to Q and a certain sum to R at 14 % per
annum simple interest. If after 4 years, P receives a total of
T 4480 as interest, then the sum lent to R is:

(A) T 1500 (B) 2100

(C) %3000 (D) T4200

(E) Question not attempted

According to the Census of 2011, which of the following
districts of Rajasthan had the lowest literacy rate?

(A) Alwar (B) Jalore

(C) Churu (D) Jaipur

(E) Question not attempted

In which of the following places is the headquarters of
“Project Chetak” that was re-raised on 3 April, 1980 for
expanding and improving the road networks?

(A) Bikaner (B) Alwar

(C) Dausa (D) Ajmer

(E) Question not attempted

Which of the following is not a division of the North-
Western Railway Zone?

(A) Bikaner

(C) Ajmer

(E) Question not attempted

(B) Jodhpur
(D) Udaipur

Which of the following cities witnessed an industrial
disaster at an Indian Qil Corporation (IOC) depot in 2009?
(A) Churu
(C) Jaipur
(E) Question not attempted

(B) Banswara
(D) Jaisalmer

In the context of environmental protection in Rajasthan,
what does RAPCC stand for?

(A)
(B)
©
(D)
(E)
In which year did Rao Jodha found the city of Jodhpur?
(A) 1457 AD. (B) 1458 A.D.
(C) 1459 AD. (D) 1460 A.D.
(E) Question not attempted

Rajasthan Action Plan on Climate Conservation
Rajasthan Action Plan on Climate Control
Rajasthan Action Policy for Climate Conservation
Rajasthan Action Plan on Climate Change
Question not attempted

[
The first person from Rajasthan who was hanged by the
British during the country’s freedom struggle (in 1857)
was-

(A) Vijay Singh Pathik (B) Arjun Lal Sethi

(C) Amar Chand Banthia (D) Kesari Singh Barhat

(E) Question not attempted
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18 wa@ﬁwﬁﬁlﬁ@wi?ﬁwmmaﬁ 18 The size of image formed by concave mirror, when the
AT TIforesy T STTHR BT 2 object is kept beyond the center of curvature is: E
(A) et (B) ﬁ%qﬁﬁw (A) Magnified (B) Point image
(©) a’{@%g‘q‘m AR HT (D) a}@ﬁ@ﬁ'{[ (C) Same size as object (D) Smaller than the object
E) R ys E) Question not attempted
(E) 313
TGRS - 19 Which state hosted the 15th Hockey India Senior Men
19 154 o T 2025 T
= 2 National Championship -2025?
[ETRIREEIRIY p p
(A) & (B) TR (A) Punjab (B) Uttar Pradesh
©) T YT (D) = (©) Madhya Pradesh (D) Haryana
(E) e we (E) Question not attempted
20 %Ir{?ﬁagmsraﬁm ST “Rier e I7E 5T T 91 20 \;Vhend \E/as O?peration “SINDOOR” launched by Indian
o 2 rmed forces
(A) 27 39, 2025 (B) 10W¢, 2025 .
(©) 077 2025 (D) 22 3, 2025 (A) April 27,2025 (B) May 10, 2025
) f, - ’ (C) May 07, 2025 (D) April 22,2025
© ] ‘ (E) Question not attempted
21 i 2025.]} RIS H ST ¢ AR Reedlel | 91 Who was the player from Rajasthan who participated in
RIS T SaTet et ¥ faeret w o : - : "
. Asian Junior Women’s Handball Championship held at
(A) fepamT afEr (B) fe=a P q fife W Tashkent in August, 2025?
© ERCIREIE] (D) T AT (A) Kiyanna Parihaar (B) Divyakriti Singh Rathore
(E) 17x SRE] (C) Norti Mewada (D) Avani Lekhara
; . (E) Question not attempted
22 SIS 2025-26 h STTEN, ( ESU
foTe Hamferd s WW%W#WW@T% 22 As per the Union Budget 2025-26, what is the new loan
A) T2d@ B) T5A™E limit under the Modified Interest Subvention Scheme for
C) T34 D) 109 By Kisan Credit Card (KCC) loans?
)
(E) 3Tgaia g (A) T2 Lakh (B) T 5Lakh
e , (C) T3 Lakh (D) T 10 Lakh
23 %ﬁmmﬁ ST 22 (E) Question not attempted
(A) AmmeiE (B) €9 .
(©) TRt (D) T 23 In which state of India is “Hornbill Festival” celebrated?
(E) 34???]1?{3[% (A) Nagaland (B) Assam
> . (C) Manipur (D) Meghalaya
24 A A AT TSR F TR & H T (E) Question not attempted
(2) . (g) & 24 In which region of Rajasthan is the “Kapil Muni Fair” held?
(E) AT - (D) T9eTTE (A) Kolayat (B) Chaksu
(E) 3Tmite o . (C) Chandanpur (D) Nawalgarh
25 T 31394’:1 ATk Hedl T Uk &Y {STehT =T a1, e, (E) Question not attempted
W,Wﬁ(q@ma < ST % U fRAT ST e, | 25 A form of Rajasthani folk art used to decorate walls,
FHEATAI 2: doorways, doorsills, platforms (chabutaras), courtyard and
(A) &S (B) Hrsum places of worship etc. is known as:
(C) 9 (D) FEE (A) Phad (B) Mandana
(E) <1« LR (C) Paane (D) Kavad
26 TSI § Frefafad § | fRg e 1 CIRaTe # aremee (E) Question not attempted
ET IS IR, 26 Which of the following monuments in Rajasthan is known
(A) SEad Il (B) IeraTeT "G as the “Taj Mahal of Marwar”?
(©) W@qqﬁ( (D) HAE YIS €T (A) Jaswant Thada (B) Dilwara Temple
(E) 3FaTa 9 (C) Ranakpur JainTemple (D) Fateh Prakash Place
e } . (E) Question not attempted
27 TSI H 3T HaTe & Wil 1 IiHE i, S 78 37 Afeer : :
T T Y, 3 A & S S 27 Thf: famous folk song of the Bhils of northe.rn Mewar in
A) P ®B) 3 Rajasthan, sung by men and women together, is known as:
. . (A) Patelya (B) Hamseedo
(C) i (D) Hre .
© : (C) Languriya (D) Maand/Mand
(E) 3 R (E) Question not attempted
28 &7 fi 71w E: T S AT T o Tt Wﬁ?ﬁ% 28 Roop Singh Shekhawat, Dayaram and Tara Sharma are
STfefg TR 2 renowned artists of which Rajasthani dance form?
(A) =T (B) TR (A) Garba (B) Ghoomar
©) mﬂa (D) T T I (C) Bhavai Dance (D) Terah Taali Dance
(E) 3TIaRd 9= (E) Question not attempted
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29  TSFEYT % WG 12 T NIEZIER HAeH FFHAHR | 29  In the musical drama “Rammat folk drama” of Rajasthan,
T HET ST & the performers of this musical drama are called:
(A) FHIH (B) St (A) Kathakans (B) Jogi
(C) Hfem (D) " (C) Mediya (D) Khelars
(E) aﬂﬁﬁﬁgﬂ (E) Question not attempted
30 Tl [ 3w g 11 o e i 30 TR 13 v et 11 e -
et 1 (97e7) Tt 11 (Frsrem) et 1 (77e9) Tt 11 (Fardrom)
o TN I HemEET a. gl I e ferm
b g Il e fo b. W= 1L et femmem
c. IAd 1, T fro c. I 1. o= ferreror
4 IR V. SREmS d. i V. iR
e fod T forshed  § He ST 3T A =9 I Frer e e Feredt H 6 HoE ST I B = I
(A) a-ILb-1,¢c-1V,d-1I (A) a-NLb-ILc-1V,d-1I
(B) a-IILb-I,c-1V,d-1I (B) a-1Lb-ILc-1V,d-1
(C) a-1V,b-TLc-1I,d-TI k% (C) a-1V,b-Lc-1I,d-1I
(D) a-ILb-1V,c-1I0,d-1I (D) a-I1,b-1V,c-1I,d-1
(E) a&ﬂm‘g{q‘ (E) Question not attempted
31 fafafed 4@ qoam wee - 31 freferfaa § @ <qeom wree 2-
(A) et (B) (A) et (B) i
(©) & (D) T (C) Hia (D) T
(E) aﬂﬂ-ﬁ—dgg (E) Question not attempted
32 e & aqua e o1 o ifory - 32 Fefefie & & o Frel 1 <o A -
a TS b. T a. S b T
c. Q-ﬁq' d ;ﬁ-{ ch AT d R
e. guf e. U
o1 frd T fereredt & Wt 3 B <R IR, A for e ferehedt 3 & W 3 1 < A
(A) FaAbIe (B) ¥aeta3itd (A) FaTTb e (B) et a3 d
(C) Fadasiic (D) ¥a@d3ite (C) et a3l c (D) e d 3 e
(E) aﬂﬂ'ﬂﬂ“q‘sg (E) Question not attempted
33 Fr=fafad & & #5991 399 vree T 22 33 freAferiad § @ se-a1 23 reg 78T 82
(A) FIT B) feform (A) e B) fefemm
(€) 7 (D) FFit (C) 7YX (D) FFf
(E) 341?111?1’ 949 (E) Question not attempted
34 THefcifiaa sreei 9 farderst w1sq i == hifsi- 34 Frfafiad wedl § ¥ R wee &1 9o HIRf-
(A) ST (B) 33 (A) 3T ®) 33
(©) W (D) = (C) &® (D) T
(E) 34’:]3?{?{?{‘;[%{ (E) Question not attempted
35wl 1 fe-fese 2 35 qfiem o E-foese g
(A) war (B) gftra (A) T (B) uft+af
(©) wrzan (D) e (C) wirda (D) ftsda
(E) Wgﬂ (E) Question not attempted
36 IO 06T FT H-fe - 36 ITENY YTee T HiI-feE BTl 5%
(A) SEHETIT (B) 3w (A) Jq+ETOr (B) IZ+ERO
(€) 3t+=mm (D) == (C) 3+=mur (D) =TT
(E) ifaf@ s (E) Question not attempted
37 AfaieR Tee H HIF-9T STE 82 37 <offafs TTee o SH-97 39T 22
(A) & (B) A (A) = (B) 1q
(©) sHfa (D) 3Fe (©) fa (D) 37
(E) gafd 9 (E) Question not attempted
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42

43

46

A 63 H HIA-HT T 27

TSI GRS TR T sreew, ST faured % O
AN o SITE, ATreha™ fehe TH ek TuTell el 82

42

38 38 gIRw mﬁaﬁ:r |1 T 27
(A) (B) | A) g (B) I
© T (D) ' (C) T (D) &
(E) aaﬂﬁ—dgsg (E) Question not attempted
39 oft ST AT Wie TSI i efafag & o forg uriafes | 39 Shri Janki Lal Bhand is renowned for his expertise in which
Y el H 9T forerasrar & forg uftrg & of the following traditional performing arts of Rajasthan?
(A) Heqder (B) we&0Em Iig (A) Kathputli (B) Bahrupia
(©) EFIF\{%[T\FPJT (D) THd (C) Kalbelia (D) Rammat
(E) 3afa e (E) Question not attempted
” . " ; 40 Which lake of Rajasthan is popularly known as “Tirtha Raj”
40 mww;ﬁ F-H gfet el T (ot Tl wTOST) F A (King of Pilgrimage Sites)?
: s (A) Anasagar Lake (B) Pichola Lake
Eé§ Qﬁasﬁa Eg)) . gg:% (C) Pushkar Lake (D) Siliserh Lake
Tl ¢ (E) Question not attempted
E) 31{aia s
(£ = . . 41 How were the members of the Indian Constituent Assembly
41 14 ST 1947 EIRCICIRKCIERIE W% SESIEIRCCIE T chosen on 14th August 1947? (Choose the most appropriate
fals (ﬁt{ LEKCED] EaRiD fershed %ﬁ) option from below)
(A) icfrr fayeT gt ST & TATE| (A) Directelection by the Provincial Legislative Assemblies.
(B) widr forerr et %mwﬁm SRISERCEIE] (B) Indirect election by the members of the Provincial
(C) Tore <t werrHt 3T He ) Legislative Assemblies.
(D) R o ST 5RT AT (C) Nominated by the Queen of Britain.
(E) aiﬂ'ﬂ‘d I (D) Nominated by the Viceroy of India.
(E) Question not attempted

An ordinance promulgated by the Governor of a State
remains in force for a maximum period of how long after

(A) 18 9¥T® (B) 64HE .
(C) 24 THE (D) 20 9HTE the reassembly of the State Legislature?
(E) orgafd 9 (A) 18 Weeks (B) 6 Weeks

TR | 1 317=98-60 fFrfafiaa & daifaa 2:
(A) T 3 Tz ST ST A S
) T % TSI 1 FA

e &2

43

45

(C) 24 Weeks
(E) Question not attempted

(D) 20 Weeks

The Article-60 of the Indian Constitution is related to the:

o it 5 (A) Oath or affirmation by the President of India.
(C) I % af; m}{% A (B) Election of President of India.
(D) Tregafar % 92 % fore (C) Qualification for election as President of India.
(E) 3?‘; AR S ] (D) Conditions of President’s office.
44 9RA ¥ fohad 359 =TT €, e el Ok ¥ st (E) Question not attempted
M q-f% CRRIIEE EERRUILE T)? 44 How many High Courts having jurisdiction over more than
(A) 9= (B) 373 one state are there in India (Union Territories not included)?
(C) 9 (D) o= (A) Five (B) Eight
(E) AN = (C) Seven (D) Three
45 Tt S < fore gt o st e wewn @ faw (E)  Question not attempted [

Under which list of the Constitution of India, is the subject

(A) TSI (B) "ug= of “Local Government” included?
(C) wadf g=ft (D) e gt (A) State List (B) Union List
(E) 3:|:|?|‘h‘cr Iy (C) Concurrent List (D) Welfare List

TSR < SATffa Tefter 2024- 25 % IITER, AW FTTHET
TR WY 2024-25 F faq adq™= Wwadmmdﬁ%{wlm
A -

(A) T 1,66,647
(C) %1,85,053

(B) ¥1,95,053
(D) % 1,90,053

(A) 59 Wt e gfafid v

46

(E) Question not attempted

According to the Economic Review of Rajasthan 2024-25,
the estimated per capita income at current prices for the year
2024-25, based on advance estimates is:-

(A) T 1,066,647 (B) ¥1,95,053

(C) T 1,85,053 (D) ¥ 1,90,053

(E) 3rgafa g :
. 3 Fatraaad S (E) Question not attempted
47 WﬁzOZS 47 Which of the following games will be hosted in Rajasthan in

November 2025?

(A) 5th Khelo India University Games
(B) @@l ferg 1 2025 (B) Kho Kho World Cup 2025
(®) ‘%ﬁmaﬂﬁm (C) Khelo India Para Games
(D) €Tl &9 TR 9 (D) Hockey Men’s Asia Cup
(E) 3‘11?1'\1?{ R (E) Question not attempted
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48

49

50

51

52

53

54

55

56

mewﬁﬂéu@ﬁmmﬁmm
wa%:saw%"(ﬁﬂrﬁﬁmmﬁwaﬁ)

(A) %qnﬁaﬂtwﬁﬁwmmw%%ﬁmmfr
e T S Reerfer & R HETET YO

foramT 6t 3% Tat s grearen & fmior % fo
IERIEE BRI EHEEC

foraTT T Y ITehtoT 37T Hefdt wdied & for foxfir
TEIAT 9T LTl

e ForamT 1 Y il Tiied % fo fomta gemar
T T

(E) rgafd 9

TSR TS FE 2025-26 % IFFER, scrah e s i
TYTIAT FHEl ol ST

B)
©

D)

(A) & (B) I

(C) WM (D) Sq

(E) orgafid 9

S[ATS 2025 o A TSTEAH H HeA T AT e TFer
(KYLC 7.0) el sTrifsta f3ham mam

(A) Sag (B) SEeHT

(C) SR (D) S

(E) rgafd o

frefefiad & & FH-97 U Tty Hieeas T8 22
(P 5 & T 3w foreed <) 53
(A) TH.TE. U

(B) TEI ®IIEIT

(C) IF=" (Unix)
(D) Toeg Hi.ud. H%H (WPS Office)

(E) Fgafaug

T TSI T 6 T3 T, TSE TS o Teed HelTHahl i
a2 (= 5 8 e 37 farehe )

(A) @ Ty, Rt (B) it sft Y. ST

(C) <t wa. faard (D) *ff 3T, Tty

(E) 3¥gaiaug

TS 1 ST 3771 HERT ot Fryfeh foreres et on e 82

(A) 77 (B) S=d AR

(C) meFwH (D) 9o HAt

(E) ogafid 9

TSI T T o FHTH T % 18 TSTEM % Teet Tsqre
Fraa (Fret & & ot Sk forehed <)

(A) T HET T (B) TeT A e e
(C) TF faeh (D) it afer T W

(E) orgafd o

WA § AR =TT o =i b i Fefafaa o
Y o 22 (e o O ool I forshed <)

(A) ¥R o eI (B) R o T H:ft

(C) W H&T =R (D) TST 1 TSAITA

(E) Agafayg

SIS AT - 2005  STTHT T-3 AT BIE IR 6 FHATS
T 9fd 98 g % o yek @@ 22 (e 0 9 wed Sugh

[EETEACC))

(A) T209fd Y8 (B) T109fd 98
(C) T129fdYs (D) T29fd 98
(E) rgafd 9

48

49

50

51

52

53

54

55

56

What is the objective of the Mukhyamantri Krishak Sathi
Sahayata Yojana launched by the Rajasthan government?
(Choose the most appropriate option from below)

(A) To provide financial assistance to farmers and
labourers in case of fatalities or injuries to their various
body parts.

To provide financial assistance to farmers for
construction of irrigation structures on their fields.

To provide financial aid to farmers for buying farming
tools and machinery.

To provide financial aid to landless farmers for buying
agricultural land.

(E) Question not attempted

According to the Rajasthan State Budget 2025-26, where
will the proposed ‘Block Printing Zone’ be established?
(A) Bagru (B) Sikar

(C) Sanganer (D) Jodhpur

(E) Question not attempted

B)
©
D)

Where was Kalam Youth Leadership Conference
(KYLC 7.0) held in Rajasthan during July 2025?
(A) Jodhpur (B) Jaisalmer

(C) Jaipur (D) Udaipur

(E) Question not attempted

Which of the following is not an application software?
(Choose the most appropriate option from below)

(A) MS Paint (B) Adobe Photoshop

(C) Unix (D) WPS Office

(E) Question not attempted

On the formation of the new state of Rajasthan, who became
the first Advocate General of the state of Rajasthan?
(Choose the most appropriate option from below)

(A) Dr. LM. Singhvi (B) Shri G. C. Kasliwal

(C) Dr. S.K. Tiwari (D) Shri R.K. Rastogi

(E) Question not attempted

The Governor of a State appoints other Ministers on the
advice of-

(A) Speaker

(C) Chief Minister

(E) Question not attempted

(B) High Court
(D) Prime Minister

Who became the first Governor of Rajasthan, after the
abolition of the institution of Rajpramukh? (Choose the
most appropriate option from below)

(A) Gurumukh Nihal Singh(B) Maharaj Man Singh IT
(C) Raghukul Tilak (D) Shri Bali Ram Bhagat
(E) Question not attempted

Who among the following appoints the judges of the
subordinate courts in India? (Choose the most appropriate
option from below)

(A) President of India (B) Prime Minister of India
(C) Chief Justice of India (D) Governor of State

(E) Question not attempted

As per the RTI Act — 2005, what is the fee per page of
information, on A-3 or smaller size paper? (Choose the
most appropriate option from below)

(A) T 20 per page (B) T 10 per page
(C) %12 per page (D) %2 per page
(E) Question not attempted

[42
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60

57 AW ged § fohad e Brd 87 57 Human heart has how many chambers?
(A) 1 B) 2 A1 B) 2
© 3 (D) 4 5 © 3 (D) 4
(E) aaﬂﬁ—dgsg ﬁ (E) Question not attempted
ATy S SHUME W W 58 l(\l/iz;larlia ?isease is caused by: B Vi
- B o ozga ( 1rus‘
() el (B) AP (14 D (C) Bacteria (D) Fungi
© e (ST (D) HTH (E) Question not attempted
(E) STfnass 59  Match List T with List IT -
59 T 13! 119 gAfTd i - List I List IT
gﬁ 1 =1l (Chemical Formulae) (Compound Names)
T ) Eakit)) a. Na,CO5-10H,O I  Baking Soda
a. Na,COj5-10H,O 1. SifehRT et b. Ca(OH), II.  Plaster of Paris
b Ca(OH), II. I F%q;ﬁﬁ'q c. NaHCO;4 1. Washing Soda
- NaHCO31 - i CaSO,+H,0 IV. Slaked Lime
d. CaSO4-5H,0 IV. THEIM 2 N
2 A Choose the correct answer from the options given below:
e fe e ferehedt # @ we S : (A) a-1L,b-T,c-1V,d-III
(g) as ;I’bb IL c- IX;_ dd' Ig (B) a-Lb-1Lc-1V,d-1I
Ec; iiﬁn;-{vcé-{d:n (€) a-lLb-1V, -1 d-II
D) a—IV’b-HI,c-I’I d-1 (D) a-1V,b-1lI,c-1I,d-1
(E) 7 o T (E) Question not attempted

The process of burning waste at high temperature in a

60 foret farfie frugeywel # 3= QUM W ST 1 el i specific reactor/furnace is called:

BIERIEIE NSRS (A) Landfill (B) Recycling

(A) et B) WUT (C) Vermicomposting (D) Incineration

© TR (D) TR (E) Question not attempted

(E) AR 94

2 61 Choose the most appropriate option to translate the given

61 Choose the most appropriate option to translate the given sentence from English to Hindi:

sentence from English to Hindi: “You will need the registrar’s signature on this document.”

“You will need the registrar’s signature on this document.” (A) 31U 38 AT T USTEL 5 EATer §HT =1few)

(A) 3% 36 TEATEST X ITELTE o SETeT ST 1) (B) 39! 30 TEAES X IRTEER o E1e il ATwehdl

(B) HIUH! 36 EATaST 9T TSI % SEATE 1 SATEgaehal &t |

gt | (C) 39 IEATAST T INTER o BETe hidl | ﬁ

(C) 38 SEATAST I TSR 3 EcTea il ol (D) 38 SEATAST 9T ISR 3 BTer 81 Gehell 21

(D) 39 SEATaS! 9T TSR 3 BTe & Gehdl 21 (E) Question not attempted

(E) =13 R 62 What is the official term for “a written statement confirmed
62 What is the official term for “a written statement confirmed by oath or affirmation, for use as evidence in court”?

by oath or affirmation, for use as evidence in court”? (A) arbitration (@A) (B) surveillance (FrY)

(A) arbitration (&ﬂ'ﬁlﬁ) (B) surveillance (ﬁ"l“\'l:ﬁ) (C) affidavit (ETHATH) (D) executive (Gh'l'éfﬁh"lﬁ)

(C) affidavit (BTN (D) executive (FTRI) (E) Question not attempted

(E) =g ks 63  Which one of the following regions of Rajasthan, is located
63 TSR o1 fmferfad & & -3 &, Siausi dimr o fieg on the international border?

27 (A) Churu (B) Rajsamand

(A) I& (B) USHHS (C) Bhilwara (D) Bikaner

(C) e (D) T (E) Question not attempted

(E) SIaRasd 64 The Tropic of Cancer passes through which of the following
64 heh QT USTEYTE & [H=foriad & 9 forg 91T 9 2ieht W 7 parts of Rajasthan? (Choose the most appropriate option

=g o g ERRLd faeey Eﬁ‘) from below)

(A) s (B) sferoft for (A) Northern tip (B) Southern tip

(C) "= HM D) ‘Eﬁﬁl’f (C) Central part (D) Eastern tip

(E) 34':!31'[’1_({ aq (E) Question not attempted
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65

66

67

68

69

70

71

72

fFeaferfiga 9 @ SH-H =1 TS % 7 Sad] g aqTelr §

feorq 22 (Fr1 9 W S forehe )

(A) TG (B) drrte

(€) sum (D) =TT

(E) 3¥gaia g

o A TSTer & freferfiaa § @ form afem @ gafeq 22
(Fr1 T 4 e 3ueh fershed )

(A) T IR (B) Wl e

(C) i (D) TTsRw e

(E) orgaid

TSR o 12T, a1 SR reamars &= | fefafad 4 9 form
T T gt A &9 9 s St 72 (e d § e 30w
[EETSRCE)

(A) Yfirear fogt (B) wrer-diedt fardt

(C) hreft ot (D) wewrse fugt

(E) 3¥gafa g

foRet eIIfT W 10% AMMeh ST H 2 a6 & aohgls oA 3T
YTETOT SATST T ST T 12.50 B ST F1a HIfSTC Saifes st
1 T ST Bl

(A) %500 (B) 1000 4%
(C) T 1250 (D) %1500
(E) 3¥gaia g

A 3 T 3 20,000 3T TR 31 3 | AT 4781 T ST
Y AT <TRaE saTsT 9L et fofam| afe st i 3T 10% anfia
2 3712 3 3 370§ 39 T T 4120 SATS e, A HTEwOT S
RIS EENEARIERUM I G

(A) %7500 (B) %7800
(C) %8000 (D) X 8250
(E) 3¥gaia g

i ST 5 4:5:7 o ST H < off| STl Ted¥sh STt 6 10 7id
HIT ST & TS, Tl 3T 6:7:9 B TN & | QT Al Fe g
ot

(A) o4 B) 80
(©) 9% (D) 110
(E) rgafd o

2 HEst % STHd H I § TH ST F e I 4.7 R
B T T T TG o | S 7 22

(A) 17 (B) 2:5
(©) L5 (D) 37
(E) Agafasg

o, Iet ST et 3 2 50,000 1 A9 F WS § uh
ST (& FL T HHel fohaml formet 9 IHet & T 4000 At
I IHe 3 S | % 5000 It faw fory afe 3 3 R
35,000 3T AT FHTA &, T 19 H § foret ol fohat T3y foreifo

(A) %9500 (B) 14,700
(C) % 11,800 (D) 16,500
(E) rgafd 9

65

66

67

68

69

70

71

72

Which of the following peaks is situated in the central
Aravalli range of Rajasthan? (Choose the most appropriate
option from below)

(A) Raghunathgarh

(C) Jarga

(E) Question not attempted

(B) Taragarh
(D) Achalgarh

The “Chhappan Plain” is associated with which of the
following basins of Rajasthan? (Choose the most appropriate
option from below)

(A) Banas Basin

(C) Luni Basin

(E) Question not attempted

(B) Mabhi Basin
(D) Sabarmati Basin

Which of the following types of soil is predominantly found
in regions of Kota, Bundi and Jhalawar in Rajasthan?
(Choose the most appropriate option from below)

(A) Desert Soil (B) Red-Yellow Soil

(C) Black Soil (D) Laterite Soil

(E) Question not attempted

The difference between the compound interest and simple
interest on a certain sum of money at 10% per annum for
2 yearsis¥ 12.50. Find the sum when interest is compounded

annually.
(A) T 500 (B) 1000
(€) T 1250 (D) T 1500

(E) Question not attempted

Bhuvan invested a total of sum % 20,000, partly on simple
interest and the remaining on compound interest. If the rate
of interest is 10 % per annum and he earned a total of ¥ 4120
as interest at the end of 2 years, then find the sum invested
on simple interest.

(A) T 7500

(C) T 8000

(E) Question not attempted

(B) 7800
(D) T 8250

There were three buckets having balls in the ratio 4:5:7.
When 10 more balls are placed in each bucket, the ratio
became 6:7:9. The total number of balls initially was:

(A) 64 (B) 80

(©) 96 (D) 110

(E) Question not attempted

The ratio of the average of two numbers to one of the
numbers is 4:7. What is the ratio of the smaller number to
the greater number?

(A) 1.7

(©) L5

(E) Question not attempted

(B) 2:5
(D) 3:7

Vimal, Premal and Shyamal decided to start a business in
partnership by investing I 50,000. Vimal invested ¥ 4000
more than Premal and Premal invested ¥ 5000 more than
Shyamal. If they earn total ¥ 35,000 profit, then out of profit
how much amount does Vimal get?

(A) T 9500 (B) 14,700
(C) T 11,800 (D) % 16,500
(E) Question not attempted

[42
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73

74

75

76

77

78

X,Yaﬁr’zu?émﬁmwaﬁmz 24, 6 3 12 T A qu
TR 2| THAH 10 0 T 3 38 H1W H o {1 & 2
Suv

(A) % (B) 12
(@) 3% (D) 3%
(E) Agafasg

18 &9 ST 28 Aieedd, foreft s 1 20 feT H 9 7 Fefd €
Ffe 6 T o 4 Aiedd et i i, @ o fodi § g
RELI

(A) 30 (B) 45 X
(©) 42 (D) 36 ﬁ
(E) rgafd o

108 km/h =1 7Tfer 9 g Tt 970 Hiet sl TeTTIE! Ush G 1 |
T2 9 e H A T Il 21 i A g (e ) @

(A) 1080 (B) 1090
(C) 1100 (D) 1120
(E) rgafasg

T HU T THTE | 6650 SATFeh WISl T IcdTeT Al 2l
T FHER & AT Ao M Fid! 81 e Ieared wferd #
ffefiaa o ST gt =)

25+ 24%

22%
20%

18%
16%

qa|m —>

e * |\ —
TTETAT ST TEaR 1 JeTfeq forega wiedl i He e 2-

(A) 1197, 1330 (B) 1463, 1596
(C) 1064, 1330 (D) 1064, 1197
(E) ¥gafaug

frefetfaa Wei § & HH-91 931 &1 9e el 82
(A) STfqarae (B) ZHA®
(C) 3Tzara® (D) Afhar=®
(E) Agafasg

‘T8 TSI UShST 7T, ST el J&T ST T - I | I FA
1 Gojer 370 O fored 22
(A) feEETEsE gdam
(C) GsieaTas gaTg

(E) 3¥gaiasd

(B) TEVETEF WA
(D) fistar=es gaam

73

74

75

76

77

78

X, Y and Z each can complete a work in 24, 6 and 12 days
respectively. Working together in how many days will they
complete the same work?

W =5 ®) 12
(©) 3% (D) 3%

(E) Question not attempted

18 men or 28 women can complete a work in 20 days. If
6 men and 4 women work together, then in how many days
will the work be completed?
(A) 30
(C) 42
(E) Question not attempted

(B) 45
(D) 36

A 970 m long train running at a speed of 108 km/h passes a
tunnel in 1 minute 9 seconds. The length of the tunnel (in m)
is:

(A) 1080

(C) 1100

(E) Question not attempted

(B) 1090
(D) 1120

One company have a production of 6650 electric motors
during a week. Company works from Monday to Friday.
Day-wise production in percentage is represented by the
following graph.

251 24%

22%
20%

18%
16%

(3]
(=}
!
1

Percentage

Monday Tue;day Wedxllesday Thursday Friday
Days of Week ——>
The number of electric motors produced on Tuesday and
Thursday are respectively -
(A) 1197,1330
(C) 1064, 1330
(E) Question not attempted

frfefaa 98t 8 9 F-81 G511 9 = 22
(A) Sifearee (B) ZFAEH
(C) 3TegdaTa+ (D) AfFara®

(E) Question not attempted

(B) 1463, 1596
(D) 1064, 1197

“TE TSR ThET AT, ST el AT ST AT - TR 7 S T
1 Goier 390 O fored 22

(A) StfzRETES g™
(C) GsieaTea ga-Tg

(E) Question not attempted

(B) T&aTHE A
) IREECIEER:CEIL]
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79 5 foramet 1 vt 9 W Ugdr 8, 3 el ST 8- ﬁ 79 5 fspamsti =1 el 9 T 9T €, 3 el STt 8-
© Nqﬂf%i?n o) Qéw%?m fora © mﬂf%?m s ﬁ%ﬁﬁ%{?ﬂ%m
(€) = (D) T (C) ¥ (D) T
(E) ﬂaﬁﬁﬁ 99 (E) Question not attempted
80 fmfcifad wedi & & =fer wroq &1 wafra=h A& &2 80 frefoifad wedi & & =fer wreq 1 wataT=H T8 22
(A) TSI (B) diffft (A) TSI (B) aifroft
(C) SareET (D) =g (C) e (D) Hd
(E) <1« @ (E) Question not attempted
81 “ITTFHeT o8 1 ™ el- 81 ITFHA o3 FH e g
(A) = (B) wfiekel (A) =9 (B) Sideget
C) g™ D) 39S ©) ™ (D) igst
EE§ g’qqﬁf{ﬁgg{ B+ (E) Question not attempted
82  TeR Teet I S aTel SR 3 fore 3 weg B 82 ;i?ﬁ%ﬁﬁﬁaﬁW’amgﬁmsﬁmwﬁm
(A) 3T (B) S ST A
() (D) T () e (D) o
(E) Wﬁ_dg%f (E) Question not attempted
83 Fraferfian ARt i & 31T T 1 7 B 83 W@WE??WWW
(A) 70 Fremem § 21 g om #) Eg & [ o %l
(B) HeTHl BRTETE! At 8 © q_ﬁ,'g'ﬁﬁa i ;l
(C) I8 I 7% & T
(D) 3 st AT (D) % st
84 ﬁw%f@ﬁﬁﬁaﬁqmamqﬁmaﬁmmw%? ) me%l FIAHTE?
(A) WIEA GTE 3317 | (B) HIET AT I | (B) TiE 37T TET BN
anef.anft el 8 1 (D) GWad: o8 el ST |
(C) =iq (C) =fe ervfi-anedt FepeT 2|
(E) STgmia st (D) E9ad: =€ el ST |
85 SR 9T W WA TE’IEF(EFF a7ef 8- (E) Question not attempted
(A) ST TR e 7 e 85 IR T It @A TeTa 1 374 2
(B) & 1 R g (A) T S BT T T
(C) ShIferd BT (B) T 1 AR e
(D) T2 Y ST FEHT @ (C) I BT
(E) 3Tgafa s (D) &< Y ST AT W&
86 Notification’ % fTq Tk &1 et gwmeff fe= wrea - (E) Question not attempted ﬁ
(A) ITTEATH (B) uftd 86 “Notification’ 3 foT [ B STt waTTeff faet wreg 2-
(C) stfergan (D) hTETeRT ST (A) ITETH (B) it
(E) mﬂaw ©) ﬂfiﬂﬂﬁq (D) FMATA AT
87 VA UL GARTE SIRETT 1 Freqd &9 § = ST =redt (E) Question not attempted
2, I8 U TR Y HA? 87 VT GTRR TATTET AT’ 1 foreqd &9 § TR 1 Ared!
(A) = faafagm (B) ferg=AT g 2, 9 THH TIR HH HT?
(C) STTEHTEH BT (D) it AT 5T (A) I fagfirgm (B) Stferg=rt gmr
(E) 3Tfafa w1 (C) FIEHTH BT (D) T ST ER
88 Fill in the blank in the following sentence with the correct (E) .QUCSUOH no.t attempted . .
tense: 88 Fill in the blank in the following sentence with the correct
. . tense:
git))mim the plum cake(}tg);/ tl}lllzdtltt)naiézmorrow. Jubin. : the plum cake by this time tomorrow.
; . (A) is baking (B) had baked
(C) have being baked (D) will have baked C) have beine baked D i1l have baked
(E) wFafa EE; Qave t.emg tal tf t d( ) will have bake
© uestion not attempte
89 Choose the most appropri ate 9pt1on .to convert the following 89 Choose the most appropriate option to convert the following
sentence from Active to Passive voice: sentence from Active to Passive voice:
She told him to come early. She told him to come early.
(A) He told her to come early. (A) He told her to come early.
(B) He had been told by her to arrive late. (B) He had been told by her to arrive late.
(C) He was told by her to come early. (C) He was told by her to come early.
(D) Come early, she told him. (D) Come early, she told him.
) a@aﬁag&r (E) Question not attempted
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Choose the most appropriate option to convert the following
sentence from Direct to Indirect speech:

Pali said, “Arjun, please put your hat back on.”

(A)
(B)
©

Pali requested Arjun to put his hat back on.

Arjun was requested by Pali to put his hat on.

Pali asked Arjun to put her hat back.

(D) Pali told Arjun to put on his hat.

(E) orgafid 9

25 9T 1948 I TS, TSTEAT 9 o Tecd TR b1 a1 &2
(A) BHIeTe T (B) 3T I

(C) e AT ST (D) HfoTeRT ATt It

(E) a9

freafefaa & @ Tsier & &9 9Rd & 119 STTsgafd & &9 7
EQRIGRES

(A) Sfawrarfea (B) &N gEE EE
(C) TIITS T&6Y 413 (D) W fé= vr@mEa

(E) ogaid 9

AR for TreTETY wiTeT < Susiel! 87

(A) J@mERET (B) TTeXdt

(C) wardl (D) @t

(E) rgafd 9

HidTeATe HATRET o STER, o8 hied T+ fored gd i i
TR, SEehT forsra, et S <fiear &1 vl firer 2, 38 e
5.

(A) TEY (B) afeT

(C) Fafiemr (D) &=

(E) Sigaia 9

“HTAST ST Y o o fore fome forfur = T fopa st 82
(A) TR (B) AT

(©) ¥ (D) T

(E) Agaiaug

STV HTE | ISl % STET 9L TSTEt Y fohd Sehr 6l et
Ted 87 (R 7 & o=l 39 foreed <)

(A) wdia (B) HizsT

(C) s (D) =&

(E) Sigia 9

e wefterg T H @ 6T SATE0T TSreer At g e
AT ST 27

(A) fomfat (B) uipet

(C) A (D) T

(E) orgafd 9

fmfarfigd o @ fore dfasrr g9am o st a2t T §
AT (ST BY) Forie &9 & Sl &2

(A) T (B) @@

(C) w@m (D) <

(E) ogafd 9

A TSt <h1 HEe Hiew TrstedT o freferiad § & forg T o
fearq 22

(A) TOTERR (B) I
(C) WEaHL (D) ST
(E) 3¥gaiasg
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Choose the most appropriate option to convert the following
sentence from Direct to Indirect speech:

Pali said, “Arjun, please put your hat back on.”

(A) Palirequested Arjun to put his hat back on.

(B) Arjun was requested by Pali to put his hat on.

(C) Pali asked Arjun to put her hat back.

(D) Pali told Arjun to put on his hat.

(E) Question not attempted

Who became the first Prime Minister of the Union of
Rajasthan, formed on 25 March 1948?

(A) Hiralal Shastri (B) Sobha Ram

(C) Gokul Lal Asawa (D) Manikya Lal Verma

(E) Question not attempted

Who among the following from Rajasthan served as the 11th
Vice-President of India?

(A) Pratibha Patil

(B) Jagdeep Dhankhar

(C) Gopal Swarup Pathak

(D) Bhairon Singh Shekhawat

(E) Question not attempted

“Nagarchol” is a sub-dialect of which Rajasthani dialect?
(A) Shekhawati (B) Hadoti

(C) Mewari (D) Dhundari

(E) Question not attempted

According to Motilal Menaria, the poetic text where we find
the description of the greatness of a king, his conquests,
wars and valour is called:
(A) Raso

(C) Vachnika

(E) Question not attempted

(B) Veli
(D) Jhamaal

What is the script used to write ‘Malvi’ language?
(A) Gurumukhi (B) Devanagari

(C) Urdu (D) Roman

(E) Question not attempted

What kind of turban do the Rajasthani men wear on the
occasion of Teej in the month of Shravan? (Choose the most
appropriate option from below)

(A) Madeel (B) Mothda

(C) Lahariya (D) Bandhej

(E) Question not attempted

Among the names listed below, which is an article of
jewellery worn by Rajasthani women around the neck?

(A) Timaniyan (B) Karnphool

(C) Nogri (D) Rakhadi

(E) Question not attempted

Among which of the following communities of musicians is
the Morchang (Jew’s harp) particularly popular in western

Rajasthan?
(A) Bhopa (B) Sahariya Eﬁ
(C) Langa (D) Nat

(E) Question not attempted

The main temple of Veer Tejaji is located in which of the
following places in Rajasthan?

(A) Ranthambore (B) Kushalgarh

(C) Parbatsar (D) Bagore

(E) Question not attempted
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(A) IE F9 U g 21

(B) I gl g, Fure, ST S demeh o foTe 37 == 2

(C) & HicHam, HEHE, G 3 dIE dedl o W 2,
Afht 56 AT3ZISH Sl 1 Erelt 21

(D) 380X firghh 3 A & +ff ST ST 2

(E) gafd 9

TSR 1 SIerary 1 ffeiad € H-81 e TTfad T8t
T 27

(A) FERET

(B) ety feufa

(C) 9= i faum

(D) TSAH et S Tt SAfera

(E) 3¥gaiasg

TSTEAH # 2024 H, A HisH (SA-fadar) % 3 fore 7ei
§ Srafafer ofod aui o GeE w Ufqwrd gt o e

(A) T (B)
(C) g (D) FrRd
(E) 3¥gafa g

faeafefad & @ H-a1 =Sl STy, TSTeT & 9 8 H
feora &2

(A) THETR IS ST

(B) AT I=ISIE ST

(C) SRR ISt SR

(D) ITE AT STHATTT

(E) ogafid 9

T HIAT G0 Tisie e o feforfad o & forg & o
feora @2

(A) I (B) ST

(C) Sag (D) T

(E) 3¥gaiasg

frfafaa & @ -4 3t e, T o fed 22
(A) foefiog (B) Erear

(C) M HEIR (D) &k 9T

(E) Sigaia 94

frefafaa ®§ & S-or Tsa wret 76 S 1 e T 22
(A) TET YR (B) TS

(C) I (D) TSR

(E) orgafd 9
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100 TSeH * faefafad & @ g & o TThYL STETE St | 100 In which of the following regions of Rajasthan was the
HeIcEd-2025 /T T2 Ranakpur Jawai Bandh Festival -2025 celebrated?
(A) HREZ I (B) gt (A) Mount Abu (B) Bundi
OREISIES (D) et ﬁ (C) Jhalawar (D) Pali
(E) e w1 (E) Question not attempted
101 TSEH ¥ Sieiie gl & s 8 fefafaa § @ a-ar e adl | 101 Which of the following statements is correct about alluvial

soil in Rajasthan?
(A)
(B)

It is a less fertile soil.

This soil is not suitable for wheat, cotton, mustard and
tobacco.

(C) 1t is rich in Calcium, Phosphorous, Potash and Iron
contents but lacks in Nitrogen.

(D)
(E)

Which of the following factors does not influence the

It is also known as Regur Soil.
Question not attempted

climate of Rajasthan?
(A)
(B)
©
(D)
(E)

In Rajasthan which month during the monsoon season

Distance from the sea
Latitudinal position

Wind direction

Dialects spoken in the state
Question not attempted

(June-September) in 2024, recorded the lowest percentage
of Long Period Average (LPA) rainfall?

(A) September (B) June

(C) July (D) August

(E) Question not attempted

Which of the following wildlife sanctuaries, is located in
Baran region of Rajasthan?

(A)
(B)
(©)
(D)
(E)

Mansa Mata Conservation Reserve is situated in which of

Ramsagar Wildlife Sanctuary
Sariska Wildlife Sanctuary
Vanvihar Wildlife Sanctuary
Shergarh Wildlife Sanctuary
Question not attempted

[42

the following regions of Rajasthan?

(A) Jhunjhunu (B) Jaipur
(C) Jodhpur (D) Bikaner
(E) Question not attempted

Which of'the following lakes is located in Alwar, Rajasthan?
(A) Siliserh (B) Didwana

(C) Anand Sagar (D) Kanak Sagar

(E) Question not attempted

Which of the following states is not a part of the Mahi river
basin?

(A) Madhya Pradesh

(C) Uttar Pradesh

(E) Question not attempted

(B) Gujarat
(D) Rajasthan
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W T SUMT (2011) % ST, TSEAH T Fiel SHEEAT
WA <1 et STEEAT <1 fehe T Tfcwre oft?

(A) 10.11% (B) 5.66%

(C) 7.85% (D) 11.20%

(E) 3¥gaia g

TSTEIT H TOT TS IR e fope ot o T 22

(A) s (B)

(C) == (D) e

(E) rgafd 9

TR o frefafed fet & aram @ ie) & 3ai & 5
FiTereR qTIT ST & -

(A) SHET, TR, Frerrre, Fereiteme
(B) ToUieh, ureft, 3T, ST

(C) SHHT, FTHT, ST, TF

(D) @R, g, i, AT

(E) orgaid 9

[

Choose the most appropriate option to transform the
following Negative Sentence to an Affirmative Sentence:
We did not find many students.

(A) No students were found.

(B) We found a few students.

(C) Some of us were found.

(D) Students were hardly ever found.
(E) Sigaia 9

Choose the most appropriate option to transform the given
Interrogative Sentence to a Negative Sentence:

Why blame him?

(A)
(B)
©
(D)
(E)

Choose the most appropriate option to transform the given

He deserves all the blame.

He is usually the target of the blame.
He should not be blamed.

Should he not be blamed?

AR 9

Assertive Sentence to an Exclamatory Sentence:
It is sad to think that he died so young.

(A) Wish he was still here!

(B) Alas! He died so young.

(C) Bravo! He died but young.

(D) Did he really die at such a young age?

(E) Sigia 9

Choose the most appropriate option to correct the following
sentence:

He has been to Amrapalli, did he?

(A) should he? (B) hadn’t he?
(C) didn’t he? (D) hasn’t he?
(E) rgafd 9

108

109

110

111

112

113

114

As per the Census of India (2011), the total population of
Rajasthan was what percentage of the total population of
India?

(A) 10.11%

(©) 7.85%

(E) Question not attempted

(B) 5.66%
(D) 11.20%

Rana Pratap Sagar dam is built on which river in Rajasthan?
(A) Banas (B) Luni
(C) Chambal (D) Mabhi

(E) Question not attempted

Teak trees forest is found the most among the following set
of districts of Rajasthan -

(A)
B)
©
D)
(E)

Udaipur, Dungarpur, Jhalawar, Chittorgarh
Sirohi, Pali, Ajmer, Jaipur

Jaisalmer, Barmer, Jodhpur, Churu

Sikar, Jhunjhunu, Kota, Nagaur

Question not attempted

Choose the most appropriate option to transform the
following Negative Sentence to an Affirmative Sentence:
We did not find many students.

(A)
(B)
©)
D)
(3]

Choose the most appropriate option to transform the given

No students were found.

We found a few students.

Some of us were found.

Students were hardly ever found.

Question not attempted

Interrogative Sentence to a Negative Sentence:
Why blame him?

(A)
(B)
©
(D)
(E)

Choose the most appropriate option to transform the given

He deserves all the blame.
He is usually the target of the blame.
He should not be blamed.
Should he not be blamed?

Question not attempted

Assertive Sentence to an Exclamatory Sentence:
It is sad to think that he died so young.

(A) Wish he was still here!

(B)
(©
(D)

(E) ﬁ

Choose the most appropriate option to correct the following

Alas! He died so young.

Bravo! He died but young.

Did he really die at such a young age?
Question not attempted

sentence:

He has been to Amrapalli, did he?

(A) should he? (B) hadn’t he?
(C) didn’t he? (D) hasn’t he?
(E) Question not attempted
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115 Fill in the blank with the most appropriate word to complete | 115 Fill in the blank with the most appropriate word to complete
the given sentence: the given sentence:
I'was__ with work towards the end of the year. Iwas __ with work towards the end of the year.
(A) inundated (B) enundated (A) inundated (B) enundated
(C) enunciated (D) undated (C) enunciated (D) undated
(E) 3rgaia s (E) Question not attempted
116 Match List I with List I - 116 Match List I with List II -
List I List IT List I List IT
(Sentences) (Articles) (Sentences) (Articles)
a. Hewon___ Tony I. a a. Hewon___ Tony . a
award last year. E award last year.
b. Germanis II. an b. Germanis_ II. an
difficult language. difficult language.
c.  Prince Vikramaditya III.  the c.  Prince Vikramaditya II. the
is___ amiable person. is___ amiable person.
Choose the most appropriate answer from the options given Choose the most appropriate answer from the options given
below: below:
(A) a-I,b-Ill,c-1I B) a-ILb-IL,c-1I (A) a-Lb-Ill,c-1I B) a-lLb-I,c-1
(C) a-ILb-II,c-1 (D) a-U,b-Lc-1II (C) a-II,b-ILc-1I (D) a-lLb-I,c-1I
(E) gaid 9 (E) Question not attempted
117 Choose the sentence with the correct use of determiners. 117 Choose the sentence with the correct use of determiners.
(A) Each student brought his book. (A) Each student brought his book.
(B) They have much apples. (B) They have much apples.
(C) Idon’thave a informations. (C) Idon’thave a informations.
(D) There is several money in his account. (D) There is several money in his account.
(E) 3¥gafa g (E) Question not attempted
118 Fill in the blank with the most appropriate preposition: 118 Fill in the blank with the most appropriate preposition:
The court has absolved him the crime. The court has absolved him the crime.
(A) from (B) of (A) from (B) of
(C) with (D) along (C) with (D) along
(E) H@ﬂﬁﬁ qq (E) Question not attempted
119 Choose the option with the correct use of punctuation(s): 119 Choose the option with the correct use of punctuation(s):
(A) “Tam going to the mall” tomorrow, she said. (A) “I am going to the mall” tomorrow, she said.
(B) The prodigy, is but just two Maya. (B) The prodigy, is but just two Maya.
(C) Ah! We are ruined. (C) Ah! We are ruined.
(D) Please send the following items of furniture: chairs (D) Please send the following items of furniture: chairs
benches tables and stools. benches tables and stools. X
(E) gaid 9 (E) Question not attempted E
120 Choose the most appropriate option to translate the | 120 Choose the most appropriate option to translate the
following sentence from Hindi to English: following sentence from Hindi to English:
(A) Iam not going to give you a warning. (A) Iam not going to give you a warning.
(B) Iam not going to give you any advice. (B) Iam not going to give you any advice.
(C) 1am not willing to give you the permission. (C) Iam not willing to give you the permission.
(D) Iam not going to give you any explanation. (D) Iam not going to give you any explanation.
(E) ﬂgﬂﬁﬁ aq (E) Question not attempted
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